Name: _________________________   Date: ____________
L.O. I can solve two step Money Problems
Answer the following questions in your books. Remember to show your working out.
				Snack Time 
1. Apples cost 6p each.  Pippa buys one for herself and her friend. How much does she spend? How much change would Pippa receive from 20p? 


2. Bananas cost 8p each.  Bilal has 25p. How many bananas can he buy? How much change would he have?


3. Toast is 10p a slice. Nancy buys 2 slices. How much 
does she spend? How much change will she have from 50p.


4. Apple juice costs 15p. Zain buys two cartons of apple juice.  How much does it cost altogether? How much change would he have from 50p?


5.  Isaac buys a carton of apple juice at 15p and a banana that costs 8p. How much does he spend altogether? If he has 30p would he be able to buy another banana for his friend?
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Name: _________________________   Date: ____________
L.O. I can solve two step Money Problems
Answer the following questions. Remember to show your working.							Snack Time 
1. Apples cost 5p each.  Pippa buys one for herself and her friend. How much does she spend? How much change would Pippa receive from 20p? 
	



Pippa spends_____ p .      She would receive ______ p change                 



2. Bananas cost 10p each.  Bilal has 25p. How many bananas can he buy? How much change would he have?
	



Bilal can buy _____ bananas. He would have ______ p change.     
           



3. Toast is 20p a slice. Nancy buys 2 slices. How much 
does she spend? How much change would she have from 50p.

	



Nancy spends_____ p .      She would receive ______ p change.             



4. Apple juice costs 15p. Zain buys two cartons of apple juice.  How much does it cost altogether? How much change would he have from 50p?

	




Zain spends_____ p .      He would receive ______ p change                 




5.  Isaac buys a carton of apple juice at 15p and a banana that costs 10p. How much does he spend altogether? If he has 35p would he be able to buy another banana for his friend?


	




Isaac spends_____ p .      Isaac would/would not be able to buy another banana.  







L/A

ANSWERS M/A 
L.O. I can solve two step Money Problems
Answer the following questions in your books. Remember to show your working out.
				Snack Time 
1. Apples cost 6p each.  Pippa buys one for herself and her friend. How much does she spend? 12p
How much change would Pippa receive from 20p? 8p

2. Bananas cost 8p each.  Bilal has 25p. How many bananas can he buy? 3 bananas  How much change would he have? 1p

3. Toast is 10p a slice. Nancy buys 2 slices. How much does she spend?  20p
 How much change will she have from 50p?   30p

4. Apple juice costs 15p. Zain buys two cartons of apple juice.  How much does it cost altogether? 30p
 How much change would he have from 50p? 20p

5.  Isaac buys a carton of apple juice at 15p and a banana that costs 8p. How much does he spend altogether?  23p If he has 30p would he be able to buy another banana for his friend? No.







ANSWERS L/A
L.O. I can solve two step Money Problems
						Snack Time 
1. Apples cost 5p each.  Pippa buys one for herself and her friend. How much does she spend? How much change would Pippa receive from 20p? 
Pippa spends 10p .      She would receive 10p change                 

2. [bookmark: _GoBack]Bananas cost 10p each.  Bilal has 25p. How many bananas can he buy? How much change would he have?   Bilal can buy 2 bananas. He would have 5p change.     
           
3. Toast is 20p a slice. Nancy buys 2 slices. How much 
does she spend? How much change would she have from 50p.
          Nancy spends   40p .      She would receive 10p change.             


4. Apple juice costs 15p. Zain buys two cartons of apple juice.  How much does it cost altogether? How much change would he have from 50p? 
     Zain spends 30p.      He would receive 20p change.                

5.  Isaac buys a carton of apple juice at 15p and a banana that costs 10p. How much does he spend altogether? If he has 35p would he be able to buy another banana for his friend?
Isaac spends 25p.      Yes Isaac would be able to buy another banana. 



